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[3-1 0O000,000

000 10000 0<x< 1000000000000
(1) w(x) = Aexp(ikz)
000O0.A€CkeR 0000 (1000 1.7000000.

1. 0000000,000000 —ifift, 00000 Hamiltonian H =
4 Qo00000000000.0000000

" 2mda?

2. 00,000000 ¢(0)=v(L) 000 (000,0000000
0000). 0000,k0000000000.

3. 00000 AO0DOoooo.
4. 000,0000000000O0O
(2)  Y(x) = Yp(x) — 29k (x) = exp(ikx) — 2exp(i(2k)x)

gbobbbboooodobob. ooobbbbodooodbb. oo
gooboo.

*hig@rice.c.u-tokyo.ac.jp, URL: http://rice.c.u-tokyo.ac.jp/ hig/,
O0: 00400 413B(00000)00000,000: (03)54.54.67.35

1



[3-2] OOOOO

000 a,p=—ik(d/dr) 0 100000,000000000. OO
00, [x,p] =ih.

1. 000 [x,exp(ipa/h)]0000. 000,

2. 0000 ¢(r) 0,000 00000000. 0000 200
O0.0000, zye(z) = zotbo(x). D000 exp(ipa/h)po(x) OO0
0 000000000000C. 000000 (DODODDOOO
00000, ¢(x) 00000000000D00).

Hint. xexp(ipa/h)io(x) = (00 0) x exp(ipa/h)e(z) 00D DOO0O0O.

3. 000 exp(ipa/h) 00 DDOO0O0OOOOOOOODODO.

[3-3] Gaussian wave packet

10boggobbooogn

2
— /A1 i —
Y(x) =n"""d"/“exp [zkm QdQ}

0000 (d>0).
1. 000000 (Dobo)oooooo.
2. 000 =,2%,p,p? 00000000,
Hint. Gauss 00, 0000.
3. 0
(3)  ((2%) = (2)*) x ({p*) — (p)*) = h*/4
ooo.

Remark. 000, 000000 AzxAp>#/2000000000000
0000.00,0000000000000,000000000
00000, (8)000)>A?/400000000000.
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